Marking Scheme of BME T2 faper Cac'e - U127 ",[fB CTY)

Q1 a) Definition of any 6 Mechanical Properties of Engineering material........... 6 marks
b) Classification of engineering material.............oociiiiiiiiiiniii. 2 marks
Explanation of any two ferrous metals and alloy with application............. 4 marks

¢) Ergonomics consideration .................. B N — 4 marks

OR

Q2 a) stress strain diagram for mild steel with salient features......................... 3 marks
Explanation of each salient features of the diagram................c.coeiiniis 3 marks

b) Definition Of €rgONOMICS. .......cvuvirnrrnirreiririiieiiieieirissii e 2 marks
R RN . s ion i oh o s iR S esh b s s mn s ms s masa SRR AR S 2 marks
explanation of aesthetic consideration.............cvreririiiiiiciiiiiiiiinnnen. 2 marks

¢) Explanation of two nonferrous metals and alloy with application............. 4 marks

Q3 g) clasification of GOUPHRE. ...[ ..o caverinsenesiiinirirararninsennensansinsracnasnnme 2 marks

Explanation of bush pin type flexible coupling with neat sketch

................ 4 marks

b) comparison of flat belt and v belt.................. SPOMEE <5 ssmnnsninsisvisia 2 marks
Explanation of open and cross belt drive with diagram.......................... 2 marks

&) NI S = (Z2VAR TN TN = B oo s svsavsapvonserasmninemninnssey onssauens 1 marks
N1/N4= 1500/ 3.15=4T76.19 IPM ....eurerniiinieiininiiiiiriiiicnsssnssnssens 2 marks

Gear4 rotates I CloTWISS dITOCHORN. ......ocociiseasirivensisonsimsssnranssssonees 1 mark

OR
O 8 ROt DRI . o s svasivensssssosiasinssnsnsbrans it smmuabaRIRAR S wie ook 2 marks
Explanation of gear terminology with diagram....minimum 4 points........... 4 marks
B IIEEBRRY o« «cxsiiiosssmnsissosssnosins sanss oo messwnbs SnibAn Rl A bAn T Lok TAS 4 S5t s 0ets 1 mark

Explanation of different types of key with sketch ....... (Minimum 3 types)...3 marks
¢) N1/N5= ( Z2*Z4*Z5) | (Z1* Z3*Z4)=2

........................................... 2 marks
N5 = (3000/2) = 1500 rpm

............................................................ 2 marks




